
Add 2-Digit Numbers

1. Which calculation is correct?

A.                                                 B.                                               C.

2. Draw a line from each calculation to the correct answer.

A.                                                 B.                                                C.

3. Ana the zookeeper is counting the birds she needs to feed.

She says,

Is Ana correct? Using addition, explain why.

T O

2 5

+ 4 5

7 0

T O

4 8

+ 2 1

7 0

T O

3 5

+ 4 6

7 1

92 82 72

There are 38 big birds 

and 34 small birds. I will 

need to feed 62 birds in 

total.

big birds small birds

1 11

T O

3 9

+ 5 3

T O

4 7

+ 3 5

T O

1 5

+ 5 7

T O T O

© Classroom Secrets Limited 2020

Visit kids.classroomsecrets.co.uk for online games to support learning.

Join our        Group: Coronavirus Home Learning Support for Teachers and Parents


